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| PART A: Vocabulary

| Dircctions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank.
| Then mark the eorrect choice on vour answer sheet.

1-  That ==eeemee car has none of the features, like power windows and steering, that make
modern cars so great.
1) antiquated 2) superficial 3) aesthetic 4) hazardous

2-  With several agencies regulating the reports, it was difficult for the accused to argue
against its -———--- p
1) infamy 2) relevance 3) veracity 4) anticipation

3-  Since Jack did not want a speeding ticket, he tried to -------—- the police officer by giving
her a compliment.
1) convict 2) appease 3) reinforce 4) escape

4-  Trudy studied harder, but there was only -----e-- improvement in her grades, so she
agreed to get a tutor,
1) marginal 2) commonplace  3) monotonous 4} unbearable

5- Living apes—chimpanzees, gorillas, orangutans, gibbons and siamangs—and humans
share a constellation of -———----- that set them apart from other primates.
1) demands 2) certainties 3) disciplines 4) traits

- Have you ever noticed how a coin at the bottom of a swimming pool seems to wobble?
This occurs because the water in the pool bends the path of light --—--—--- from the coin.
1) generated 2) recognized 3) reflected 4 differentiated

7-  Publicly available Web services (e.g. Google, InfoSeek, Northernlight and AltaVista)
--------- various techniques to speed up and refine their searches,
1) specify 2) capture 3) determine 4) employ

8- Owing to the protests of the Dominicans and other regulars, the book was prohibited in
1760, but the second part was issued ---- in 1764.
1) meticulously 2) superstitiously  3) profoundly 4) recklessly

9-  While admissions offices do admit many students with similar profiles, a college is still a
-------- and diverse community.

1) mundane 2) controversial 3) anonymous 4) heterogeneous

10- Despite the security, the thief's ability to break into the museum without being caught
remains an —---— to the police.
1) infection 2) enigma 3) illusion 4) authorization

PART B: Cloze Passage

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
| each space. Then mark the correct choice on vour answer sheet,

Thunder is caused by lightning, which is essentially a stream of electrons flowing
between or within clouds or between a cloud and the ground. The air surrounding the
electron stream becomes (11) -------- hot—up to 50,000 degrees Fahrenheit— that it
forms a resonating tube of partial vacuum (12) =-=ean-n- the lightning’s path. The nearby
air rapidly expands and contracts. (13} ---------- the column vibrate like a tubular
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drumhead (14) --=--==--- a tremendous crack. As the vibrations gradually die out, the
sound echoes and reverberates, generating the rumbling (15) —-----——-- thunder. We can
hear the booms from great distances, 10 or more miles from the lightning that caused
them.

11- 1) very 2) 50 3) too 4) enough

12- 1) surrounding 2) surrounds 3) that surround 4) and surround

13- 1) that makes 2) and making 3) making 4) it makes

14- 1) produces 2)is produced by 3) and produce 4) and producing

15- 1)itis called 2)is called 3) we call 4) which called

Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), {2), (3), or {4). Then mark the correct choice on your answer sheet,

PASSAGE 1:

Navigation is the combined endeavor of way-finding. Whether carrying out some
errands or planning a trip to a foreign country. we need to complete navigational tasks.
In this context, we often rely on some kind of stored expert knowledge, e.g.. in the form
of maps or route instructions. Such artifacts allow to transfer spatial knowledge (e.g., a
route) between humans in a coded form (pictorial or verbal). In addition, they reduce
the need to carry out computations in the head. Formally. a route consists of a series of
decision points (e.g. intersections or landmarks) at which the way-finder needs to
perform an action in order to proceed (e.g.. “turn right at the bank™). Thus. route
instructions communicate a sequence of such actions with in order to guide a way-finder
from a source to a goal destination.

Wayv-finding instructions provided by today’s information systems are fundamentally
different from instructions generated by humans. First, the type ol information is different.
Humans produce instructions that include mostly qualitative information, e.g.. in the form
ol landmarks. Computer-generated instructions. on the other hand. rely on quantitative
metric information, such as references to time and distance between decision points.
However, for many people this type of information is difficult to process. thus introducing
additional cognitive strain in an already demanding way-finding task. Second. the way
today’s information systems allow users to interact with the presented content seems
extremely limited if compared to human forms of interactions: Humans can adjust to their
dialog partner’s expectations by keeping track of a mental model of them. This implies that
information is generated individually. allowing to make changes during information
presentation.

16- For navigational purposes, humans frequently ---------—----- s
1) reduce computations in the head
2) rely on stored expert knowledge
3) transfer spatial knowledge to experts
4) communicate a sequence of decision points
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17-

18-

19-

20-

Humans can make changes in presenting route instructions because ---————--— :

1) they can adjust to the mental models of their dialog partner

2) their mental models can adjust expectations of their dialog partner

3) their dialog partner can adjust expectations of their mental models

4) they can adjust to the exceptions of their dialog partner’s mental model

Which onc of the following sentences is incorrect?

I ) Human-generated route descriptions depend on individuals™ mental models.

2) Qualitative information is preferred to quantitative one in human way-finding.

3) Route instructions provide information about how to go from a target to a destination.

4) Computers and humans essentially generate similar route instructions. except the type
of information.

Which one of the following sentences is correct?

| ) Navigation is the carly stage of way-finding.

2) Map is a pictorial coded form of spatial knowledge.

3) Route descriptions provided by information systems mostly contain information in
the form of landmarks.

4) Relving on route instructions generated by information systems reduce the need to
carry out computations in the head.

According to the passage, we comprehend that -----——------ -

1) Metric information eases the Lngnllwe strain in way- Fildlng tasks

2) A decision point on a route is a point at which the ma}*-hnder turns

3) Humans generate more {lexible route descriptions compared to information systems

4) Verbal and pictorial route instructions are respectively generated by humans and
computers

PASSAGE 2:

The UAV photogrammetry describes a photogrammetric measurement platform, which
operates remotely controlled without a pilot sitting in the vehicle, The platform is
equipped with a photogrammetric measurement system., including. a small or medium
size video camera. thermal or infrared camera systems, airborne LiDAR system, or a
combination thereof. The implementation of GPS/INS systems as well as the
stabilization and navigation units allow precise flights, guaranteeing sufficient image
coverage and enabling the user to estimate the expected product accuracy preflight.
UAV photogrammetry opens various new applications in the close range domain,
combining aerial and terrestrial photogrammetry. but also introduces new (near-) real
time application and low-cost alternatives to the classical manned aerial photogrammetry.

Major advantages of UAVs compared to manned aircraft systems are that UAVSs can
be used in high risk situations without endangering a human life and inaccessible areas.
Furthermore. in cloudy and drizzly weather conditions. the data acquisition with UAVs
is still possible, when the distance to the object permits flying below the clouds.
Moreover, supplementary advantages are the real-time capability and the ability for fast
data acquisition, while transmitting the image. video and orientation data in real time to
the ground control station. UAVs limit the sensor payload in weight and dimension, so
that often low weight sensors like small or medium format amateur cameras are selected.
Therefore, in comparison to large format cameras, UAVs have to acquire a higher
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21-

22-

23-

24-

25-

number of images in order to obtain the same image coverage and comparable image
resolution. Moreover, low-cost sensors are normally less stable than high-end sensors,
which results in a reduced image quality.

According to the passage, which one of the followings is not an advantage of UAV
photogrammetry compared to manned aircraft systems?

1) Real-time data transmission 2) Sensor weight and dimension

3) Fast data acquisition 4) Pervasive usability

Which one of the followings is incorrect about UAVs?

1) They are always remotely controlled.

2) They can acquire data from inaccessible areas.

3) They can save human life in high risk situations.

4) They are especially useful when they fly below the clouds.

According to the passage, we comprehend that ---———---—--- -

1) UAV photogrammetry is a low-cost alternative to the close range domain

2) In comparison to large format cameras, UAVSs have a higher image coverage

3) The UAV platforms are equipped with several photogrammetric measurement systems
4) Limitation on the UAV’s sensor weight and dimension lead 1o a reduced image quality
According to the passage, which one of the followings is not an immediate result of
GPS/INS system of a UAV and its navigation unit?

1) Enabling precise flight

2) Adequate image overlap

3) Stabilization of the aircraft

4} In-advance accuracy estimation of the product

Which one of the followings is less applicable to comparison of UAVs and manned aireraft
systems?

1) Field of view 2) Resolution 3) Coverage 4) Quality

PASSAGE 3:

Choose the word or phrase that best completes the blank spaces 26 to 30.

Svnthetic-aperture radar (SAR) belongs to the class of mapping radar systems, which
provides a two-dimensional view of a section of terrain by scanning the earth's
surface using electromagnetic waves. The basic principle behind SAR involves an

antenna (26) -----------—-—- perpendicularly to the radiation direction. The position
must be precisely known at all times. The direction of motion (27) ----=-=---—---- as
the "along track" or azimuth and the related cross coordinate as the "cross track" or
range. The "footprint” is the area that the real antenna (28) ======sseaea--- The "swath”
is the strip of terrain that the footprint crosses due to the ongoing motion of the real
antenna. SAR involves replacing the instantaneous snapshot (29) =---c-eeaeea-- by a

large antenna with many snapshots that are produced using a small, mobile antenna.
The best possible resolution that can be attained in the azimuth or flight direction is
equal to half the length of the real antenna, (30) ---------—---— the resolution in the
radial direction is determined by the signal bandwidth of the transmit signal that is
used.
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26- 1) which can move 2)that can move  3) which is moved 4) that is moved

27- 1) refers 2)1s referred 3) refers to 4) 15 referred to
28- 1) currently covers. 2} 1s currently covered.
3) 1s currently covering. 4} is currently being covered.
29- 1) produced 2) is produced
3) that produced 4) which is produced
30- 1) while 2) although 3) however 4) despite that
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